# KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form Must Be Typed

## WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

5000 · · · · · · · · · · · · · · · · · ·	1
Operator: License # . 5822	API No. 15 - 007-23130-00-00
Name: VAL Energy Inc.	County: Barber
Address: 200 W. Douglas #520	SW_NE_NE_SE_Sec. 30 Twp. 33S_S. R. 10W East West
City/State/Zip: Wichita, Ks. 67202	feet from S/ N. (circle one) Line of Section
Purchaser: Maclaskey Oilfield Services UNI IDLINIAL	495 feet from E)/ W (circle one) Line of Section
Operator, Contact Person: K. Todd Allam	Footages Calculated from Nearest Outside Section Corner:
Phone: ( <u>316</u> ) <u>263-6688</u>	(circle one) NE (SE) NW SW
Contractor: Name: K. Todd Allam	Lease Name: Vogel Well #: V1-30
License: 5822 UNIOINAL	Field Name:
_	· ·
Designate Type of Completion:	COMMISSION: Ground: Kelly Bushing:
New Well Re-Entry Workover JUL 13 20	D Producing Formation: Mississippian  COMMISSION: Ground: Kelly Bushing: Hold Depth: 4730  Plug Back Total Depth: 4730
✓ Oil — SWD — SIOW — Temp @mbloco	Amount of Surface Pipe Set and Cemented at 251 Feet
V New Well Re-Entry Workover SOL 1 3 20  ✓ Oil SWD SIOW Temp. @ONSERVATION DIVI  ✓ Gas ENHR SIGW WICHITA, KS	Sion Multiple Stage Companing College Lead?
Dry Other (Core, WSW, Expl., Cathodic, etc)	"Multiple Stage Cementing Collar Used?
If Markovar/De entry Old Mall Info f-llows	If yes, show depth setFeet
·	If Alternate II completion, cement circulated from
Operator:	feet depth tosx cmt.
Well Name:	Drilling Fluid Management Plan AHT NH8-05 08
Original Comp. Date:Original Total Depth:	(Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride contentppm Fluid volumebbls
Plug Back Plug Back Total Depth	Dewatering method used hauled
Commingled Docket No.	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	Operator Name:
Other (SWD or Enhr.?) Docket No	
4-5-2007 4-14-2007 4-25-2007	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or Recompletion Date	Quarter Sec TwpS. R East West
recompletion bate	County: Docket No.:
INSTRUCTIONS: An original and two copies of this form shall be filed with Kansas 67202, within 120 days of the spud date, recompletion, workover information of side two of this form will be held confidential for a period of 12 107 for confidentiality in excess of 12 months). One copy of all wireline logs a TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	r or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 2 months if requested in writing and submitted with the form (see rule 82-3-140 and geologist well report shall be attached with this form. ALL CEMENTING
All requirements of the statutes, rules and regulations promulgated to regulat herein are complete and correct to the best of my knowledge.	e the oil and gas industry have been fully complied with and the statements
Signature: Joseph Silliam	KCC Office Use ONLY
President 4.3.2007	
Date.	Letter of Confidentiality Received
Subscribed and sworn to before me thisday of	If Denied, Yes Date:
20 07	Wireline Log Received
Notary Public:	Geologist Report Received
	UIC Distribution
Date Commission Expires: A NOTARY PUBLIC - State of Kansas	l l

BRANDI WYER

My Appt. Expires 2/24/2010

Operator Name: VA	L Energy Inc.			Lease	Name:_	/ogel		Well #: V1	-30	
Sec. 30 Twp. 3		East	<b>✓</b> West -	Count	y: Barbe	r .				
ested, time tool ope emperature, fluid re	how important tops a in and closed, flowing covery, and flow rate is surveyed. Attach f	g and shut- s if gas to	in pressures, surface test, a	whether s along with	hut-in pre	ssure reached	static level, hydro	ostatic pressu	res, bottom hole	
Orill Stem Tests Take		Ye	es 🗸 No			og Forma	tion (Top), Depth a	and Datum	✓ Sample	
Samples Sent to Ge	ological Survey	. ▲ Ye	s 🗌 No		Nam	e	•	Тор	Datum	
Cores Taken			es 🗸 No		Heel	oner		3644	-2152	
Electric Log Run (Submit Copy)		Ye	s No		Stalr	nacker Sand		3949	-2457	
ist All E. Logs Run:		•		•	Lans			4054	-2562 2012	
Dual Compensated Dual Induction		•	Ch			nee rokee Shale issippian C		4508 4553 4584	-3013 -3061 -3092	
Micro	•	2			IVIISS	issippian C	Hert	4004	-3032	
	41. 14. 1.4 1.4 1.4 1.4 1.4 1.4 1.4 1.4	Repor		RECORD conductor, s	☐ Ne	w Used	ction, etc.			
Purpose of String	Size Hole Drilled		e Casing (In O.D.)		ight / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives	
surface	12 1/4	8 5/8	(11. 0.0.)	223		266	60/40 Poz	200+	3 cc	
Production	7 7/8	5 1/2		14#		4762	AA2	125		
				ļ.,						
		T	ADDITIONAL	L CEMENT	ING / SQL	JEEZE RECOP			·	
Purpose:  —— Perforate  —— Protect Casing  —— Plug Back TD  —— Plug Off Zone	Depth Top Bottom	Type	of Cement	#Sack	s Used		Type and	Percent Additive		
Shots Per Foot	PERFORAT	ON RECOR	D - Bridge Plu Each Interval Pe	gs Set/Type			acture, Shot, Cemer		ord Depth	
Conf & Conf			ach interval Pe	riorated		(Amount and Kind of Material Used)  Depth  1000 gal. 15% MA, frac 6400 bbl water, 108 mbls sand 4597-465				
2 spf & 3 spf	4597-4608 & 46	P			RECEIVED					
and the second s		• • •					KAN		ION COMMISSION	
								JUL 13	3 2007	
								CONSERVATOR		
TUBING RECORD	Size 2 7/8	Set At 4600		Packer	At	Liner Run	Yes No			
Date of First, Resume 5-1-2007	rd Production, SWD or E	Enhr.	Producing Me		✓ Flowing	g Pum	oing Gas L	ift Oth	ner (Explain)	
Estimated Production Per 24 Hours	0il <b>2.0</b>	Bbls.	Gas	Mcf	Wate	er .	Bbls.	Gas-Oil Ratio	Gravity	
Disposition of Gas	METHOD OF 0	COMPLETIC				Production Int	erval		A CONTRACTOR OF THE CONTRACTOR	
Vented ✓ Sold (If vented, S	✓ Used on Lease ubmit ACO-18.)		Open Hole Other (Spe	✓ Per	f. 🔲 [	Oually Comp.	Commingled _			

## **ALLIED CEMENTING CO., INC.**

Federal Tax I.D.i EMIT TO P.O. BOX 31 SERVICE POINT: **RUSSELL, KANSAS 67665** RANGE SEC. 30 A.M 6.00Am Z'WOAM LOCATION/KOLDIA Rd flood ree Rd 1/2 Northandine Tree OLD OR NEW (Circle one) OWNER Val Energy CONTRACTOR 1/6 TYPE OF JOB **HOLE SIZE** AMOUNT ORDERED ZOOSX (00'40'2 + Lalo **CASING SIZE** DEPTH **TUBING SIZE** DEPTH 3%00 DRILL PIPE DEPTH **TOOL DEPTH** 120 A PRES. MAX COMMON\_ @ 11.10 1332.00 <u>MINIMUM</u> **POZMIX** MEAS. LINE SHOE JOINT @ 6.20 496.00 80 CEMENT LEFT IN CSG. @:1665 66.60 **GEL CHLORIDE** PERFS. @ <u>46.60</u> ASC @ **EQUIPMENT** RECEIVED KANSAS CORPORATION COMMISSION @ @ CEMENTER Y JUL 13 2007 **PUMP TRUCK** HELPER CONSERVATION DIVISION BULK TRUCK 309 WICHITA, KS DRIVER Robert **BULK TRUCK DRIVER HANDLING** MILEAGE 33 X2// 436,77 TOTAL *3058.4*7 **SERVICE** DEPTH OF JOB

release (in psi, Comentatio	PUMP TRUCK CHARGE	815.00
	EXTRA FOOTAGE@@	0 138.00
CHARGE TO: Val Energy		
STREET	TOT.	AL <b>/053,00</b>
CITYSTATEZIP	PLUG & FLOAT FOUIPM	ENT

To Allied Cementing Co., Inc.

You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side.

& 1- warden plus	@ 60.00	60,00
8	@	
	@	
	@	
ANY APPLICABLE TAX		

WILL BE CHARGED **UPON INVOICING** 

TOTAL **60.00** 

TAX-**TOTAL CHARGE** DISCOUNT -IF PAID IN 30 DAYS

PRINTED NAME

200 W. Douglas, Suite 520

Wichita, Kansas 67202

Office: (316) 263-6688 Fax: (316) 262-2512

July 9, 2007

Kansas Corporation Commission 130 S. Market Room 2078 Wichita, Kansas 67202 CONFIDENTIAL 7-9-08

To Whom It May Concern:

Please hold all information confidential per the rules of the Commission pertaining to the Vogel V 1-30 located in the SE/4 Sec. 30-33S-10W, Barber County, Kansas.

Sincerely

K. Todd Allam

RECEIVED KANSAS CORPORATION COMMISSION

JUL 13 2007

CONSERVATION DIVISION WICHITA, KS



Kathleen Sebelius, Governor Thomas E. Wright, Chairman Michael C. Moffet, Commissioner Joseph F. Harkins, Commissioner

August 18, 2008

VAL ENERGY, INC. 200 W DOUGLAS AVE STE 520 WICHITA, KS 67202-3005

RE: API Well No. 15-007-23130-00-00 VOGAL V1-30 **SWNENESE, 30-33S-10W** BARBER County, Kansas

#### Dear Operator:

An affidavit of completion form (ACO-1) on the above referenced well was received on July 13, 2007. Technical review finds that the ACO-1 is incomplete. The information requested below, or an amended/corrected ACO-1, must be submitted by September 05, 2008. Only the current ACO-1 form will be accepted (Form ACO-1, Rev. 9-99), and only the lines marked below apply.

11.3	
All drilling and completion information. No ACO-1 has been received as of this date.  Must be notarized and signed.  Must have the ORIGINAL HARD COPY of ACO-1.  We do not accept fax copies.  Must be put on new form and typed.  API # or date when original well was first drilled.  Contractor License #.  Designate type of Well Completion.  If Workover/Re-entry, need old well information, including original completion date.  Spud date. (Month, Day, Year)  X Other: Only the Production Casing cement ticket is	TD and Completion date. (Month, Day, Year)Must have Footages from nearest outside corner of sectionSide two on back of ACO-1 must be completedMust have final copies of DST's/ChartsAll original complete open and cased hole wireline logs runA copy of geological reports compiled by wellsite geologist. X A copy of all cement job logs showing type, amounts and additives used to cement casing strings, squezze and/or to plug and abandon. (Note: Cement tickets must be from company providing the cement, not necessarily the contractor.)Any commingling information; File on the ACO-4 formAnything HIGHLIGHTED on ACO-1.
K.C.C. regulation 82-3-107 provides confidentiality, u	ipon written request, for a period of one year from the date of
such letter request. Confidentiality rights are waived i	f the ACO-1 remains incomplete, or is not timely filed (within
	logs, geologist's wellsite reports, driller's logs, and Kansas

Geological Survey requested samples.

Do not hesitate to call the Kansas Corporation Commission, Conservation Division, at (316) 337-6200 if there are any questions. PLEASE RETURN THIS FORM AND ANY ENCLOSURES WITH YOUR REPLY. Note: If the intent is incorrect, you need to file a corrected intent.

Sincerely,

Naomi Hollon **Production Department** 

### ENTERED APR 2 0 2007



**PAGE INVOICE DATE CUST NO** 1970-VAL002 04/18/2007 2 of 2

INVOICE NUMBER

#### 1970000187

**VAL ENERGY** 200 W. DOUGLAS **SUITE 520** 

**WICHITA** ATTN:

67202 KS

RECEIVED

APR 2 0 2007

**LEASE NAME** Vogal 'V' 1-30 WELL NO. Barber COUNTY KS **STATE** 

JOB CONTACT

JOB DESCRIPTION Cement-New Well Casing/Pipe:

9308

DUE DATE **TERMS** PURCHASE ORDER NO. JOB# **EQUIPMENT #** Net 30 DAYS -05/18/2007 1970-00188 301 -UNIT PRICE INVOICE AMOUNT U of M QTY Cement Production Casin

PLEASE REMIT TO: BASIC ENERGY SERVICES, LP PO BOX 841903 DALLAS, TX 75284-1903

SEND OTHER CORRESPONDENCE TO: BASIC ENERGY SERVICES, LP PO BOX 10460 . MIDLAND, TX 79702

**BID DISCOUNT SUBTOTAL** TAX **INVOICE TOTAL** 

-1,637.13 8,594.94 325.26 8,920.20



#### **Pratt**

VAL ENERGY

200 W. DOUGLAS

SUITE 520

**WICHITA** 

ATTN:

KS.

67202

INVOICE DATE PAGE **CUST NO** 1 of 2 1970-VAL002 04/18/2007

**INVOICE NUMBER** 

### 1970000187

LEASE NAME Vogal 'V' 1-30 WELL NO. COUNTY Barber KS STATE

JOB DESCRIPTION Cement-New Well Casing/Pipe:

**JOB CONTACT** 

JOB # 1970-00188-	EQUIPMENT #	PURCHASE OF	RDER NO.	TERMS Net 30 DAYS	DUE DATE 05/18/2007		
a.c.			QTY	U of M	UNIT PRICE	INVOICE AMOUNT	
For Service Da	ates: 04/14/2007 to	04/14/2007	4				
970-00188	,						
1970-15803	Cement-New Well Cas	sing 4/14/07			-		
Pump Charge-I		.	1.00	Hour	1827.000	1,827.00	
	nent Pumper		4.00	<b>-</b> ^	250.000	250.00	
Cementing Hea			1.00	EA	250.000	250.00	
Cement Hea			1.00	ĒΑ	175.000	175.00	
	pe Insert Float						
Valve						75.00	
Cement Float E			1.00	EA	75.000	75.00	
	Cement Plug	·	6.00	EA	74.200	445.20	
Cement Float E	quipment		0.00		1,1200	. , , , , , , , , , , , ,	
Mileage			150.00	DH	1.500	225.00	
	vice Charge					450.00	
Mileage			90.00	DH	5.000	450.00°	
Heavy Vehic	cle Mileage		315.00	DH	1.600	504.00	
Mileage  Proppant ar	nd Bulk Delivery					,	
_Pickup			45.00	Hour		135.00	
	or Van Mileage		20.00		0.000	216.00	
Additives	History Dayburgan		36.00	EA	6.000	216.00	
Additives	ction Reducer		30.00	EA	3.450	103.50	
Defoamer						-	
Additives			95.00	EA	8.250	783.75	
FLA-322			110.00	E 4	5.150	607.70	
Additives Gas Blok	•		118.00	EA	3.130	007.70	
Additives			626.00	EA	0.670	419.42	
Gilsonite			4				
Additives	•		606.00	EA	0.250	151.50	
Salt		,	1,000.00	EA	1.530	1,530.00	
Additives Super Flush	 • II		1,000.00	, <b>L</b>	1.550	1,000.00	
Cement ·			25.00	EA	10.710	267.75	
60/40 POZ					12.505	0.000.05	
Cement			125.00	EA	16.530	2,066.25	
AA2							

HARON - 95 TO GERLANE PL - ZW-1/4N HAN ETTE SEIN **Subject to Correction** Lease **Customer ID** Station County Depth **Formation** Shoe Joint レールルーとら A R G **PO Number AFE Number** Received by DLS Station AMOUNT MATERIALS, EQUIPMENT, and SERVICES USED **UNIT PRICE** QUANTITY Code Code 2066.25 267.7S 103.50 216.00 607,70 1530.00 445.20 75,00 75,00 450.00 135.00 504.00 8-27.60 250,00 10244 NE Hiway 61 • P.O. Box 8613 • Pratt, KS 67124-8613 • (620) 672-1201 • Fax (620) 672-5383 **TOTAL** 



### TREATMENT REPORT

Customér/	41 1	711-1	2/24/1	ease No.				**	Date			<del></del>		
Lease 1	000	1027	- (-) V	Vell #		30			4-	14-0	7			
Field Order #	Station	n Po	1			Casing	/_ Dept	7/00	County	1202	50	State		
Type Job	3 CF	16)-1	1/11/	۷.5	<del></del>		Formation	11/	4800	Legal D	escription 2	0-33-/0		
DID			EODATING	-		EL LIID I	L		TRE					
	PIPE DATA PERFORATING DATA  Casing Size   Tubing Size   Shots/Ft			Δ	FLUID USED			TREATMENT RESUME***  RATE   PRESS   ISIP						
216	Depth	26 311013/1			<u> </u>	e Pad	·	Max			5 Min.			
Depth 62 Volume	Volume	From	То		Pa		t-nut-nut-	Min			10 Min.			
Max Press	Max Pres	From	То	<del>. 1981 (1981</del>	Fra			Ávg	4	<del> </del>	15 Min.			
Well Connection		/ol	То		-			HHP Use	d	·	Annulus Pressure			
Plug Depthy		noth From	- To		Flu	ısh	Special Control of Con	Gas Volu			Total Load			
Customer Rep		J-rom		Station			-114		. 1	620	DIE			
	1000	KU SSE	10500	100	1G	*		<u> </u>		TOR				
Service Units Driver	17701	ROSE	17804	7700	/	7.44	13 (0)	)	<u> </u>					
Names	Casing	Tubing	MITT	147		J. M.	(34.30/J)	/	<u> </u>		L			
Time	Pressure	Pressure	Bbls. Purr	ped		Rate	Out.	1600	Sei	vice Log				
1220							010	120	7/0 5	-12	56.	111/14		
430				· · ·			1011	N 700	107	1001	- JG.	115 00		
						•	1 10 1	<u> </u>	BULL	<u>15 STU</u>	e, Lu	DSER		
<u> </u>	· ·					*	12011	- /- :	3 - 5	<u>z</u> z=9-	//			
	<u>.</u>		* •		- (LV			DOP RATE - ROSAN PARO						
					-	.,	0	$e_{I-I}$	Succe	1)100	= // C	(2)		
1615	250		~			5	1/		2 66	1 4	-0	* *,		
/ 3/ 3	250		24			5	Jagn		74 11	5/ 8	PED	FLUSH		
	250		3		, . <b>`</b>	5	The	PS	661	1 11	()			
	200	رد رد مو <sub>س</sub> ر	::30	,-	٠.	5-2-	MIT	-v -/	25 5/	A	47	3%CFR		
					;		25%	Dest	outen	.8% F	24-3	22.10%		
- :							SALT	-19	151451	LOK	5161	CLSONITE		
							577	P-1	UHSH-	LIVE	- DRO	PRIC		
	0		0			7	STA	21	DISP.			,		
	200		95	-		7	LI	FIC	ME	WI	per .			
	400		110		,	4	5.	Lou	J R	かど	· · · · · · · · · · · · · · · · · · ·			
1600	1000		110	2	,	3		200	DOL	UN -	1/22	2		
							2							
							Kur k	24+	MH-	255/	60/4	o POZ		
1700					h.	. (		ombe	lete-			LEVIN		
10244	<b>NE</b> Hiw	ay 61 • F	P.O. Box	8613 •	Pr	att, KS 6	7124-861	3 • (62	0) 672-12	201 • Fa	x (620)	672-5383		